- We consider a tossing four identical fair coins at the same time. Now, let X' be a random variable ob

serve the

number of heads that appears. Then:

a.
b. Compare this result with the example 3.2.5. What do you notice?

c.

d. Compare the set X for this random variable with the values set of X in the example 3.2.5. what do

€.

4).

Determine the space of elementary events of this random experiment.

Determine the set X of possible values of the random variable X.

you notice?

Determine the probability mass function P(X = e).
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3- We consider the ex

periment of rolling two identica ame time and for on¢ time only,
ind let X be a random I balanced dice at the s

variable observe the sum of the two appear numbers. Then:

a.
Determine the space of elementary events of this random experiment.

b. Determine the set X of possible values of the random variable X.
¢. Determine is the probability mass function P(X = ).

d. Calculate 1E (X), E(X?), var(X) and the standard deviation of .X.
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! We consider a discreet random v

ariable X gjven by the following table:

2
= 2 1 3 4 7 12

e RS =28 aap 0.15 gio | olg a0 S

a. Determine X the values set of X
b. Determine is the probability mass function P(X =e).

¢. Represent the random variable .Y graphical.
d. Determine the distribution function F_ and sketch it.
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6- Let X be a random variable given by the following gr‘ap—h/__———-—
=
0?% 7
o?° 1
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b M0 1 2 3 4
Then:
a. Represent the given random variable X tabular.
/Bl Determine is the probability mass functionP(X = 0).
pecial name)?

% R ; . % rari s(hasas
c. As studied in this course. Is this random variable of famous random variable (

If yes, what 1s it?
d. Determine the distribution function F, and sketch it.
: &
e. Calculate E(X), E(X?). var(X) and the standard deviation of X.
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l, Let X be a given continuous random variable. Can we accept that the following function as probability
density function for Y, and why?

[l‘—l for0<z<4

(z)=
o ] 0 otherwise
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IIQ :
) )is a continuous random VarxabIN
1 ir (in hours
\ Tl the time for a mechanical to finish the car repair (I h
probability density function:
lsit‘y _2— o 1) fOT 1€z2< 4

: (
oy f (x) = 90 otherwise

Where ¢ is a constant. Then:

a. Determine the distribution function P

. in the interval [1.5,2]7
b.  What is the pl‘Ob‘lbilitV th at he finishing the car repair 1 the interval [
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ation for the €
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: o Brnnitnd e i) 20 RAASI) g B F R g

ooooo
--------
cccccccc
---------
oooooooooooo
-----------------------------------------------------------------------------

............................. C?)\’.Lu(,,‘,zF

os e O

F{H{émc?—— AL Kah Dx;ﬂ SP/‘,‘: ty. ..... 344 wgﬁp_:ﬁj.\;: i

el salvniattis e e s ...K.?,,.(i ........................................... CTPR S e

7 26 s

Asexa2)= ;,,Ll{*\,éx ,..ﬁ.?.g e e 2
V- .5

e

...... Nt e G e

o W N Y R B TR MO SR
1

--------------------------
-----------------------------------------------------------
--------------

oooooooooooooooooo

B ”—.-:-—T—:':" "“:‘q—: ?‘?. eee wu.o ....... I _‘Z. ......
e . s SO W TR g
D erhiieessssaresasfERhussrassrnsisensarescusingaersessanes G or dacayania caeresses ol
B Bel 902Dl - @t il - 2 [
o 2@)&()& ______ f Z(‘E—ﬂﬁ')%f—”—'-—‘r ..... iy S S

q?

a0t o el
\Jov(¥) = ,f(,,mé—/(x))l (3) G Jos 2




jon:
ing relatio
b 1 1 i by the following
¢ X be a random varighle With density function Jx given b;
Lot ‘
>

[ azr Jor 0<z=1
j:\' (J-) = ] 0 otherwisc
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a) Determine the v

alue of ¢ and draw the graph of f, . X
¢) Determine the

dlstubutlon function e

distribution function F. and sketch it.

ollowing probabilities: ‘ o8y Bl 0.5)
©1) P(026<X<02) c2) P(X>1.75)

of X.
f) Calculate E( X), E (X g ) var (X) and the standard deviation
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